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SPIPA CGRSQuestion Paper (19-09-2021) Series A

L. Which of the following is correct about the review petition in the Supreme Court?
1. Only parties to a case can seek a review of the judgment on it.
2. The power to review any judgement is mentioned in the Indian constitution.
(A) Only 1 (B) Only 2
(C) Both 1 and 2 (D) None of the above
Ul ey i wllen RRAE DA 3 e 72
1. 32ttt warsiA o At urst Ysiendl alendl uiogll 59 a2 8.
2. Sy Ysierd asllan sl Avt BuRdlY simzemi GedRid O,

CVRTER I (B) WA 2
\}Q) 134 2 6{4 (D) Gulsd AA A5 wat )l
2. Right to vote and to be elected in India is a right,
(A) Constitutional Right (B) Fundamental Right
(C) Natural Right (D) Legal Right
QURANL N 2iuat] A4 G2l ARSR .. wRLR O,
A elrrell 1SR (B) yuoyd 2[R
(C) gedl x4 (D) sl 1512

3. Find correct statement(s) about Montague-Chelmsford reform
(1) It was introduced in 1909.

(2) It was related to social reform.

answer codes:
(A)Only 1 ' 0 (B) Only 2
(C) Both 1and 2 (D) None of the above

020y -Aeuld yuen RA dlou A 4l
(1) 4 1909 Hi % s3I 2utedl gl
(2) A A% s Y 0 Avifd sdl.

et [Qsell
(A) WA 1 (B) A 2
) 1241 2604 ' (D) GuRlsdidl 816 Al
4. has power to increase the number of judges in the supreme court of India.
(A) Chief Justice of India (B) President
(C) Parliament (D) Law commission °
otRetl AARA Agiean] el vat a4Ra Al ..., 4D D,
(A) SR Yoy =qptla @) eguld
\/(01 ue (D) s1EL Y
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Which of the following parameters has been given

the
devolution formuln of the 15th finance commission? .highcsl welghtage In the horizontal tax

(A) Forest and ecology (B) Demographic performance

(C) Thx cffort (D) Arca

Aol sy yRagd 154 L 53U U AR viqag Yol A ay ax+t suvawi 2uef 97
(A) at % YRRuRA ($5dl®) (B) axdl Ruus g13204)

(C) 53 iy () Rz

Which of the following supreme court judgements
Constitution?

(1) LIC of India case
(2) Berubari union case
(3) Kesavananda Bharati case

cntioned that Preamble is a part of the

Answer Codes :

(A) Only 1 and 2 (B) Only 2 and 3
(C)Only1and 3 (D) Only 3
AA-niell sur ydlza ieidd- Ysterilal Gedvt 540 2 uadiaq sitzaidl s oud 87
(1) Aa.2us.A. 2ils S 3

(2) Aoud yRud 3

(3) 3uarie cudl 3n

oot [Aseyl :

(A) WA 1244 2 Loz ud 3
(C)HA113 (D) A 3
Amarasimha is the name of a

(A) Dance from of ancient India

(B) Poet mentioned by Kautilya in his Arthashastra

" (C) Rajput king of Chalukya lineage

(D) Famous lexicographer of ancient India
AR A ... e,

(A) Wl MRd et a3y

(B) AlReu g1t At viefurani Gedlia s

(C) gL darll A%y A

(D) Wil SR ABANSR (AvgSlay oi-iarR)

The Reserve Bank of India (RBI) introduced the Financial Inclusion Index. It will be published in
which month every year?

(A) March (B) April
(C) July (D) December

CGRSC-2021-A] ‘ 4 - [Contd.
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MRl Rard Q-5 (RB) A [RAella 2000 s 21w sal, A g2 @l sut 1RWH SR udl?

(A) wd . ®B)ARa
(€) geud (D) R
9. Who was the first ruler of Sikh empire?
(A) Maharaja Duleep Singh (B) Maharaja Ranjit Singh
(C) Maharaja Tej Singh. (D) Maharaja Naunihal Singh
A A1 ey s S sa?
(A) v gllu R (B) M1 20120 [Rs
(C) weruén A g (D) Hern AR R
10. Durand Line sometimes seen in news is a border between
(A) India and China (B) Afghanistan and India
(C) India and Bhutan (D) Afghanistan and Pakistan
S48 A L35 AR AW HA D A ... a2l AReE O.
(A) MuRd 214 Q1 AB) 25URAA 247 (IR
(C) MIRel 21 B4t (D) s 21 WlEdt
11.  Consider the following pairs.
Martinl Arts: State ;
1) Thag Ta: Sikkim
2) Silambam: Tamil Nadu
3) Mardani Khel: Maharashtra
Sclect the correct pairs from the codes given below:
(A) 1 only (B) 2 and 3 only
(C) 3 only : (D)1,2and 3
0 210e Al A a:
dé-Y¢ s : AU
1) 3 du ; RuEsn
2) Reso: da-ug
3) usi-l via: HSRZ
DR e sleniell i A uaie sA:
(A) M 1 B) WA 2 A 3
(C)wA3 D) 1,213
12. Which of the following countries share a border with Iran?
1. Kuwait 2, Armenia 3. Turkey '
Select the correct answer from the codes given below:
(A) 1and 2 only (B) 2 and 3 only
(C)1 and 3 only (D)1,2and 3
— PR L
CGRSC-2021 - A] 5 - PT.0.
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DAl sy 2y St WA A6 4d B?

L& 2 aplRu 3.gél

TR wulen Ngnie l Faue wils s3A:

(A) M1 wd 2 (B) M 2 344 3
(©) WA 137 3 D)1,2%4 3

13.  In the Indian Parliament, purpose of adjournment Sine Die is

(A) To allow discussion on definite matter of urgent public importance
(B) To suspend the sitting of house for a specific period
(C) To terminate the sitting of Parliament for an indefinite period
(D) To postpone proceedings to check inappropriate behaviour of some members
SRl AuEu] "AsRA2 WA QS Al By L B
(A) dicsifas e Heeadl A5 oleid U Al 531 32
(B) 554 xudn 12 8-l Ass uBid 5]
(©) AR anudut w2 Ae-N Ass uud 53d)
D) B2 el 2dley adH dwiar 12 sidaidl 2bid s24)

14.  Which of the following is the objective of ‘“Ujjwala”, a scheme of government?
(A) To provide electricity to every household in the country by 2022
(B) To provide LPG connections to women from Below Poverty Line
(C) To provide financial assistance to start-up en!repﬁeneurs in field of Renewable energy
(D) To provide financial assistance for the construction of smart cities across the country
A1 A5 dlw-i "Goyadr” Al DA-unidl sul Gau B?
(A) 2022 Y0 Bt €35 wsi dlyefl ydl wisdl
B aflefl vt 0A (BPL) N HR&AA Aefley Asiat 2una
©) Yty Adl-lsellu Go-u Al 221 21w RAA wdla s Y@l sy
(D) 2ueiul 3 1dAu Faale 2 Aeufly e gl wsa
15.  Consider the following statement regarding e-Rupi
1. It is a cashless and contactless nielhod for Digital Payment
2. e-Rupl doesn’t require any Internet connection
3. It has been developed by Natlonal Payment Corporation of Indla (NPCI)
Which of the nbove statements Is/are correct?

(A) 1 and 2 only (13) 2 and 3 only
(C) 1 and 3 only _ (D) 1,2and
CGRSC-2021 - A] 6 [Contd.
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§-3\W (e-Rupi) 2ibiRa N Rdedl bl e

1. A RRraa V- w2 Ass AR 27 e R yg@ O

2. 6-301 2 AlSum Srer2 sAsull o3 )

3. A daa W AR 2116 SEsUL(NPCI) g1 Rszuaai 2ue O,
BUAsaniel su Mdeq () W B/B?

(AW 11 2 B) WA 294 3
YO WA 1A 3 (D)1,2413
16.  The Quit India Movement was launched in response to
(A) Cabinet Mission plan (B) Cripps Proposal
(C) Simon Commission Report (D) Wavell Plan
.......... A MRRUEHT AR 18] AIENAA UF sam] A1 8.
(A) 3BA2 M Qe (B) Bt evuizd
\UC) nA s R (D) ddd o

17. Consider the following statements regardin'g IPCC (Inter government panel of Climate Change)

1. It was established by the World Meteorological Organization (WMO) and United Nations
Environment Programme (UNEP).

2. It is a recipient of Nobel Peace Prize
Which of the above statements is/are correct?
(A) 1 only (B) 2 only
- (C) Both 1 and 2 (D) Neither 1 nor 2 -
§r2R {2 U1e 2y scusiz A4 (uSNARN-IPCC) 2R A1 Rde-l unui dl.
1. A+l 22y [ sarH s (WMO) 21 aigaﬂ g vulaet si{su (UNEP) it s sudl edl
2. A lAld il YR wadl 8.
GuRsaniedl su Rdeq (L) = /87
(A) WA 1 (B) 1A 2
(C) 11 2604 (D) 1320 Ayl
18. Find wrong statement about electoral bonds in India.
(A) They have a tenure of 1 year.
(B) They provide 0% interest rate.
(C) They can be purchased only from State Bank of India.
(D) Foreigners are prohibited from purchasing these bonds.
oud Hi 2ol - RA Wi Rde-t 4l
(A) Au-l Anual 1 ay 8,
(B) A%l 0% <1 €3 20 6.
(C) A%l WA 32 Ns g SFsumied Wl asiu B,

D) Q2N 2y 6lvs wlgar w2 wlvit B.
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19.  Consider the followlR!
1. Photosynthesis
2. Respiration
3. Decay of organic matter
4. Volcanic nction
Which of the above add carbon dioxide to the carhon cycle on Earth?
(A) 1 and 4 only (B) 2 and 3 only
(C) 2, 3 and 4 only D)1,2,3and 4
AA-A uu 4l
Luseisdna 24t 3 selRsvenllad g, omonpdl Bu
GuRAsridl 53 yedl - sl asui 2iuRAY (sl srlseus) GA B7
(A) WA 14114 (B) WA 2 41 3
(©) WA 2,334 W11,2,344
20. Variations in the length of daytime and night time from season to season are due to
(A) The earth’s rotation on its axis )
(B) The earth’s revolution around the sun in an elliptical manner
(C) Latitudinal position of the place
(D) Revolution of the earth on a tilted axis .
A gl ollow g Yl (g 8g2) Bzt 24 Al dousHi F4R veveeen. A 54 8.
(A) yedlq a-ll 4l u2 uReue B) yedl 3l 2R dopin Ad uRen 53 8
(C) 2an-l i Rald N2 ARl 49l yR yedld uRmum
21. Long Walk to Freedom’ is an autobiography of
(A) Dalai Lama (B) Martin Luther King Jr.
(C) Nelson Maﬁdela (D) Aung San Suu Kyi
oL als 3 AsH veuvreeees N WHsU B,
(A) s @t B) W @R Ba R
(O) &t Wda (D) a1 A Y A
22. Increase in Biological Oxygen demand (BOD) in a water body indicates .
(A) Increase in organic pollution (B) Decrease in organic pollution
(C) Absence of organic pollution (D) None of the above
opmauHl BRS B 1o (BOD) AL A3 ..o A2 6.
J(A) SR NGl qud () SRS Nguami v
(C) B(2s ugall Rwrdl (D) G5 WA A5 WAL
—— —
CGRSC-2021-A] 8 [Contd.
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23, Match the following pairs:
Nuvigation system Developed by
1. BeiDou A) Indin
2. Global Positioning System B) China
3. GLONASS C) European Union
4. Galileo D) Russia
5. NavIC E) USA
Sclect the appropriate code:
(A) 1-B; 2-E; 3-D; 4-C;' 5-A (B) 1-C; 2-E; 3-B; 4-D; 5-A
(C) 1-D; 2-E; 3-B; 4-C; 5-A (D) 1-C; 2-E; 3-B; 4-D; 5-A
D0l AN A 530 (Ul Al Asl:) |
AQslan Rwren g1 RsRd
‘D 1. A5G A) MIRd
2. salloie WMo Rireu R
3. 2dl-u C) 3l yRun
4. SR D) Rt
5. AAQASANavIC gy B gt
uloy 518 wiE S

\9&) 1-B; 2-E; 3-D; 4-C; 5-A

(B) 1-C; 2-E; 3-B; 4-D; 5-A

(C) 1-D; 2-E; 3-B; 4-C; 5-A (D) 1-C; 2-E; 3-B; 4-D; 5-A

Which of the following statements is/are correct?
1. Blood Plasma makes up more than half of the body's total blood volume. -
2. The main role of plasma is to take nutrients, hormones, and proteins to the parts of the body.

Select the correct statements:

(A) 1 Only :

(C) Both 1 and 2

DA s/ai Quir (1) dlou B/87
1. oats ettt 2l el g et atsuiel ayell oust 4 B, :

2. vl 5&1 oyfRist s ded, vidszadl 21 WA 1A w0 4 wq;-{l 8.

(B) 2 Only
(D) Neither 1 nor 2

dloy RdeAl waie 53
(A) M= 1 (B) Wit 2
) 1244 2 6§ (D) 1324 A AR,
\./C el
 PT.O.
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first sung ofTicially nt the

(A) Mutiny of 1857

(B) Swadeshi mm.(.mpnl 1905 nfter partition of Bcnual
(C) 1911 sesston of the Indian Natlonal Congresg

(D) 1929 Purna Sward) declaration session at Lahore

A-OLRL- N NN eoveeeees quid AR Ad Ay ¢,

(A) 1857 -l Qwia
(B) diouen-t ayarar w! 1905 QL a2l anaqn
(C) ourdlu lu 3l 1911 A

D) 12 a4 1929 o ol a1 Hlueu A

% SET: Q. 26 to Q. 29 Match each word in the first column with its definition in the second column.
26. Column 1 Column 2
1. Cacophony X. Unpredictable
2. Callow y- Harsh Mixture of sound
3. Capitulate z. Immature
4. Capricious W. Surrender
Answer Codes:
(A) 1-y, 2-z, 3-w,d-x (B) 1-!,2-3!,3-1,4-\:?
(©) 1-w,2-23-y4x D) 1y2x324tw
27. Column 1 Column 2
1. Edify X. Erase
2. Efface '~ y. Enlighten
3. Egotist . Self-obsessed person
4, Egregious ' w. Extremely bad
Answer Code:
(A) 1-y, 2-2, 3-w,d-x : (B) 1-x,2-y,3-2,4-w
(C)‘l-W,Z-Z,3-Y.4-x \}D) 1-y,.2-x,3-2,4-w
28. Column 1 Column 2
1. Juxtapose x. Place side by side
2.Latent y. Present but not visible
3. Lethargy z. Sluggishness
4. Levity w. Lightness
nswer Code: ‘
(A) 1-y, 22, 3-wd-x (B) 1-x,2-y,3-2,4-w
(€) 1-w2-23-y4x (D) 1-y.2x,3-2,4-W
CGRSC-2021 -A] 10 [Contd.
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29, Column 1 . Column 2
1. Relinquish x. Disown
2. Remonstrate —" ¥. Rebirth
3. Renaissance / z. Argue against
4. Renounce W. Surrender
Answer Code:
(A) 1-y, 2-z, 3-w,4-x (B) 1-x,2-y,3-z,4-W
c—C) 1-w,2-z,3-y,4-x (D) 1-y,2-X,3-2,4-W
30. What is an appropriate antonym for the word Perfidy?
(A) treachery (B) fealty
(C) duplicitous P « (D) unscrupulous
31. It depends on whether we get down by failures or use them as stepping-stones.
(A) eluded (B) wretched
(C) bogged (D) squirted

%  SET: Q. 32 to Q. 33: Read each sentence given below and find out whether there is an error in it.

The error, if any will be one of the parts of the sentence- select option as an answer. If there is no
error, the answer will be (D).
32. None could (A) / dare to encroach (B) / on her rights (C) /. No error (D)

(A) None could (B) dare to encroach
(C) on her rights (D) No error
33. Having come to Delhi (A) / she had found that there (B) / was nothing pessimistic in people (C) /
No Error (D) '
(A) Having come to Delhi . (B) she had found that there
(C) was nothing pessimistic in people (D) No error
34. Choose the correct word spelling out of the given options.
(A) Supercede (B) Conceed
(C) Concensus ) Quarantine
35. Choose the correct word spelling out of the given options.
(A) Indispensible ; (B) Inediable
" (C) Instantaneous _ (D) Hillarious
36. Choose the correct word spelling out of the given options.
(A) Conqueror ; (B) Adultration
(C) Agression : (D) Beaureaucracy
37. Palaeography means .
(A) The study of various aspects of aging (B) The science of human development
) The study of ancient writing (D) The study of planets
38.  After the long journey, Brijesh was so tired that he on the couch,
(A) passed away (B) puton
(C) mixed up ‘ ; \_9) nodded off
PEES—-.
CGRSC-2021 - A] 11 P.T.O.
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* T’ I In the | ollowing ?u:i:.':::';“ :: (:;:;(Ilntlllll. which of the phrases (A), (B), (C) and (D) given helow
should replage the phrase & ¢ following Sentence to make the sentence grammatically
and meaningpylly correct:

39, Vijny had bt of puss the buck when it came ¢, important issues at work.

(A) pass buck (B) Passing buck
(©) passing the buck (D) pass to bucking
40.  Vidhi was on cloud nine after having stood first j, her class,
(A) on nine clouds (B) in ninth cloud
\_A€Ta cloudy nine ] (D) No cor:l-ection required

*  SET: Q. 41 to Q. 43: Read the following passage_s carefully and answer the questions given below it:

Tata Trusts Chairman Ratan Tata has invested in Several start-ups in his personal capacity, including

adder, Snapdeal, Lenskart and NeStA“'a)'- Recently, the Tata group took over a pharma
retailer e-commerce company named 'Img' and grocery retailer named Big Basket. Though the
Tata group is currently a small player in the online retail business, which is dominated by Amazon
and Flipkart. Nonetheless Tata is planning to launch 5 super app that would offer all goods and
services sold by the group under a single platform. This will also help Tata will to promote its joint
venture Zara's fashion products. Wipro’s founder Azim Prem ji also has a venture capital family
office, Premjilnvest, through which he invests in various start-up companies. Parallelly, Mukesh
Ambani’s Reliance group has majority stake in Start-ups like Urban. Ladder; digital pharma
marketplace Netmeds, software firm C-square, —_— -

41 Who among the following has invested in "Img'?
(A) Azim Premji \}Bﬁma
(C) Ambani (D) Cyrus Poonawalaa

42. According to passage Which of the following company has received investment from both Ratan
Tata and Mukesh Ambani

1) NestAway 2) Snapdeal 3) Urban Ladder
'h-u—---"‘-'-——._.—

Answer Codes ,
(A) only 1 and 2 ' (B) only 2 and 3
(C) only 1 and 3 " @ only3
\
43.  Which of the following statement(s) can be correctly inferred Based on the information given in
the passage?

\A) Both Tata and Ambani group have invested in pharmaceutical start-ups

2) Azim Premji is an investor in Zara fashion.

Answer Codes:
(4) Only 1 _ (B) Only 2
(C) Both 1and2 : \e(ﬁ) Neither 1 nor 2
CGRSC-2021 -A] 12 [Contd.
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* SETQ.d4t0 Q. 48: Jhalann beeame Ingjy'g first leopard reserve In 2016. Local Communities, most
of whom work in Jaipur city, say (hat they appreciate the clean, cool enviornmepq around the
veserve. The forest has become a temperature ypg pollutant sink, cﬁpcdl!“y after fllegg) mining
came to a virtual standstill due to the stringeng action by local authoritics: Swapnil Kumbhojkar is
avesearcher studying Jhalana's leopards, He hys also worked on carniyore €Onservation in Namiba,
reckons that Jhalana is a rare enviornment where tiger population is zero S0 leopards do not bave
to compete with for the food to surviye, His survey found that majority of the humap population
here belongs to the Jain and Gujar communities and believe in non-violence and taking care of
animals as religious duty. Being opportunistic caters, leopards scavenge carcasses of cattle that
villagers would otherwise find hard to dispose of, Thanks to local mopemtion and regular monitoring
through cameras and patrolling, there has been a boom in the population of the spotted felids.

Which of the following can be correctly inferred from the passage:
1) There are no tigers in the Jhalana reserve,

2) The majm_-ily of the human population in Jhalana reserve belongs to Muslim community,
Answer Codes: :

(C) Both 1 and 2

(D) Neither 1 nor 2
45.  Which of the following factors can be attributed for the thriving population of leopards in Jhalana
reserve
1) Contorl over illegal mining
2) Surveillance by the forest department
3) Religious beliefs of the local community-
Answer Codes . .
(A) Only 1 and 2 ~AB) Only 2 and 3
(C)Onlyland3 . , (D) All three statements

46. Based on the passage what is the meaning 6f the word carcasses?
V(—Kf Stroking gently or lovingly
(B) Thorny Plants from the Cactus fsimi!_y
(C) Bodies of dead anigpals
(D) Special céges to capture wild animals .
47.  In the passage the phrase “spotted felids” is used in context of !
= (A) The act of tourists spotting the leopard through binoculars
(B) Forest officials spotting the presence of leopards through their pugmarks on soil.

\AC) Small roundish mark on the body of a leopard

(D) None of the above
48. What is the antonym of Carnivore?
(A) Omnivore 0 (B) Herbivore
(C) Insectivore (D) None of the above
_________—‘__
CGRSC-2021 - A] | 13 | P.T.0.
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SET: Q. 49: Djpect Action D‘ay \l\;ns lllrepmmlt of the g by Mohammad Ali Jinnah for an all-India
Protest by Mygjjms for the "m; 0“. o Dinkismn, ore than 4,000 people died and around a 100,000
were left homeless, In just 72 1:1:15. rect Actio Day “'ﬂq‘a“ et o absslGS herfity b Jisneh
Who, until then, had behaved wit nl:‘;:s traint. Inge » he had cven given his assent, along with the
Congress, to the Cabinet Mission Plan, which poq Suggested  formula for transfer of power to
Indians, But e yyithdrew his support saying he Suspected the Conpress of “insincerity” and instead
launched his pipect Action Day on August 16, 1946 demandin g F e rals Battead T ll;d' o
Muslims, He eyen said he wanted “cither a divigeg India or 5 disi:ro;ed India”. ia

Tone of the Passage is

(A) Eulogizing Mohammad A“_ Jinnah \B) Exalting Mohammad Ali Jinnah
(C) Lauding Mohammad Ali Jinnah (D) None of the Above

S.ET‘ Q. 50: Covid-19 has shut court rooms for monthg On end and even when hearings have resumed
Virtually, majority the lawyers are facing "precedented financial difficulties. Bhopal-based lawyer
Yadvendra Yadav says different apps are in use for different courts even within Madhya Pradesh.
Some courts are using Microsoft Teams and some others use Jitsi, “‘So, if a video conference is to be
done between two courts simultaneously, then mu]ﬁple devices are n;eded.” But virtual hearings
ha"’e proved a boon for llbig” Ia“’}’el‘s. Yadav Says btfore the pandemic, a lawyer residing in‘Delhi
but fighting a case in a Mumbai court needed to take leave'and travel, but can now attend these
hearings with minimal time and effort. So those with billing of Rs. ’10_15 lakh a day are now

‘making up to Rs.60 lakh a day. For a majority of Ingja’ lawyers, however, it’s a struggle for

survival. Arghya Sengupta, research director at Vidhj Centre for Legal Policy, says the pandemic

has sharpened the existing divide between the top 1 per cent of lawyers (i.e., senior advocates in the
Supreme Court and high courts) and the rest, ‘

Himal Akhtar, vice-chairman of the Bar Council of Delhi, says, 90 per cent of the work comes to
the top 10 per cent of lawyers. So, while those with a steady stream of cases and the wherewithal to
attend multiple hearings in different courts across the country saw their earnings multiply during
the pandemic, a majority of the lawyers had to struggle to survive each day.

Who among the following has highlighted the Software incompatibility issues in the above passage?
(A) Arghya Sengupta \B) Yadvendra Yadav

(C) Himal Akhtar (D) All of the above

By selling an item for 1800, a man loses 10%. If he sells it for 2500; his gain per cent is

(A) 20% (B) 25% '

(C)30% ‘ (D) 15%

1800 Hi A5 azg A, 215 e 10% 9 8. A A A 2500 ui A B; AN ao ... %8.

(A) 20% : " \MB) 25%

(C)30% D) 15%

One year ago, a father was four times as old as his son. After six years his age exceeds twice his
son’s age by 9 years. After 7 years the ratio of the age of father:son is

(A) 5:2 (B) 11:3
(C) 12:5 (D) 13:4

As arl udalt, 25 Rt Ayt s 2 210 g g, &9 af wedl R G4 A Yol Gz saeu st
9 a ay as 6. 7 uehl Ryt D G4+l RNTR weveveee . :

(A) 5:2 (B) 11:3

f) 12:5 (D) 13:4

CGRSC-2021 -A] 14 [Contd.
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If 10 people can weave 160 mats in 8 days, how many mats will 8 people weave in 6 days?

(A) 200 (B) 192
(©) 190 ®)9%

R 10 Q14 8 Rauni 160 0682 A2 03, dl 8 Al 6 Rauui 32l ezl 2d?
(A) 200 (B) 192

(©) 190 \_(Dy96

When a runner was crossing the 12 km mark, He was informed that he had completed only 75% of
the race. How many kilometers was the runner supposed to run in this event?

(A)1s (B) 16
()18 )21 -

e s 1812 12 Bl Ai58 WR 530 2w &ell, i A3 o s 2udl 3 A8 Wi 75% 3 yel 50 B,
20 i Elsd Zean Baldle: elsang ¢4?

A 15 ) 16
“O1 o2
55. A man can row 4.5 kmph in still water. If in a river running at 1.5 km an hour, it takes him 60
minutes to row to a place and back, how far off is the place?
(A)3 B)9
o7 . _ (D)2 .
s o Ruz welui 4.5 B WA ses) AR -ua acnd) 92 O, A 1.5 Bl uR seusd 362 ady
Elaell €, AR A oA wdlll 4 el it o w2 60 PRz ) B, L A 2an 32gj 2 97
A3 ®)9
©)7 D)2
56. The sum of the base and altitude of a triangle is 20 cm. What is the maximum possible area of such
a triangle? -
(A) 100 sq.cm. (B) 110 sq.cm,
(C) 50 sq.cm. ' . (D) 120 sq.cm.
Rstarn 20 243 Gus - 2arawil 20 A3 8. i Rl uenu ag Axgun 3 wu?
(A) 100 sq.cm. i ~ (B) 110 sq.cm. L
(C) 50 sq.cm. " (D) 120 sq.cm. A\
57. In an election which was contested by two candidates, X and Y. Total 3000 votes were polled.
Suppose that every vote was polled in favour of either of the two candidates. Candidate Y got 30%
of the vote polled and was defeated. Then what was the margin of defeat?
(A) 1200 votes _ (B) 800 votes
(C) 500 votes - & (D) 1600 votes
X 213 Y -t 6 GReatdl gt asari 2uddl s feeflui 4 3000 M 1w g, Rl 3 €35 e O
GReuuie) ASue sl axderi ugal $ol. GREAUR Y A 307% Het w2 A el @i il 3 wi?
\/é) 1200 votes . (B) 800 votes
(C) 500 votes (D) 1600 votes
CGRSC-2021 - A] 15 P.T.O.
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8. Niraj walky 10 meters I“.-, the h‘wn::‘t -‘llin'dl"w“ 10 meqep ¢ the right. Then every time turning to his
1eft he walky 5, 15 and 15 m vespectively, gy, T I8 he now from his starting point?
(A\) 25 m

(B) 51
O 10

D) 15m
"L Ry 10 Mzg spowvaudl AR wsl 10 3023 oy A6 R e LI <
\,"'1/ 5. 152 15012 qd 8. d 8d d-l uli[ﬁu, [G]&gu L ugdl g2 avid d-fl swoll 3

S2dl g2 07
Q)28 m AB)sm
©10m (D) 15 m

5. The differcnce between the compound intereg

. t and the simple interest for 2 years on a sum of
money is 40, If the simple interest for 2 years i

S 1500, what is the rate of interest?

(A) 4.56% (B) 6.42%
(©) 8% (D) 5.33 % -
SIS A sy 2wl 4598 U 3 AL oy 42 qgraq 40 9. %A 2 & W2 WE 2 1500 3,
=l aug-l 62 4 97 ' > T Az049350
7 @) 4569 ®)642% — sl
(C) 8% : D) 533 %
60.  If the side of the square increases by 40%, then the area of the square increasesby ___%.
(A) 60%

(B) 40% 0 £
\y " (0)19%% D)9 9% '
% AR bugg-d oS 40% ad B, dl g Anagn . % qf 8.

< (A)60%

; ' ' >
< ) Lk 7 ) axfy = 19
(C) 196% D) 96 % - {99 -

61.  The grandfather’s age is 5 yr more than nine times the age of the grandson. The father’s age of 40
¥r is 2 yr less than six times the age of his son, The age of the grandfather is
(A) 65 yr

i (B) 68 yr
(C) 67 yr - LEA S (D) 60 yr
)y el B3R Wl Gul g il s2di 5 el auid 840 M Rl 642 A1yl G- 6 a1l 341 2
\_/ T 2 8. el G2 ... 8. : N U
(A) 65 yr ) 68 yr
' (©67yr (D) 60 yr

62.  Village A has a population of 52000, which is decreasin
-a population of 32,000 which is increasin
population of two villages be equal?

(A)13 -
(C) 15

g at the rate of 1500 per year. Village B has
g at the rate of 1000 per year. In how many years will the

(B)8 )

) ()21 :

')7 oun A 4zl 52000 8, ? €2 a¥ 1500 1 63 02 20 8. WM B N 2zl 32,0008 3 ¢3 ay 1000 -u e3 al
‘. 2l 8. F2a alui & a3l qrd) wan wdl?

(A) 13 L
(©15 (D) 21
CGRSC-2021 - A] . 16 [Contd.
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63 Distance between two stations A and 1 i gg¢) K, A train covers the journey fromA 1o g 4 26 km

per hour and returns back to A with uniform speed of 50 km per hour. Find the average speed of
the train during the whole journey,

2501
(A) 50 B)75 P by
(C) 60 (D) 80

L7 AR A A B axdy ¢idR 800 B 8, 3 MAdg 4 s A 75 B R sl 340 3miq9)

63 ©, aua nanat gt Sl A9 pgy o).
o’
(A) S0 ®) 75

AAC) 60 (D) 80

64.  When the price of a product decreased by 209,

; thclnu‘mber of the product sold increased by 30 %.
Then its total revenue will be increased by

S 9,
2R SRS Ganend Bud 209 12 8, & Beug ) QA ) 2ivat 30% 4l o B. Al s,

qql%a. -------- fe
o &

(B)7.5
©6 D)8 < 2
65. Find the single discount equivalent to a series discount of 25 %, 20% and 10%. g bis
(a) 43 ®) 54 3 6
ME) 46 \ (D) 60 '
Kyzs*z, 20% 214 10% 0 Ael-u BasiG2 (¢92)fl at Aset [B2816-2 (t92) 204l
@Ayas ®) 54 '
AE) 46 _ _ (D) 60
i 66: © Which of the following ratios is the smallest?
@A) Ts ‘ . ®)1s23
1725 ¥ "ipyanes
Car DA 4 delar e 4l B ;
A)7:15 . £ (B) 15:23 *
(©)'19:25 ' 215

67 - ,Amit and Mahesh invest in a business in the ratio of 3:2. If 10% of the total profit goes to charity
) ~.and afterwards Amit’s share is Rs. 1080, then the total profit is Rs. N

" (A) 1,500 (B) 2,000
(C) 2,500 (D) 3,000

Y./ 2l A nda 3:2 1 pilemi caqauan AR B, A 46 1l 10 (R0 g1 i A arvus

" -l (323 31 1080 1y, dl 54 8L 3. cocenns B,

v @A) 1,500 32,000
@250 - (D) 3,000
CGRSC-2021-A] 17 P.T.O.
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soldiers had food for 195

68. Inan army camp, 9 days. After 5 days, 30 soldiers left the camp. How

many days will the remn]ning food last now?
(A) 100 ®) 280
(C) 285 ' ®) 300

As 2l Jagyj 95 ARA WA 195 B 2 oy
618 Ay, :&l 'ﬂ9 Waus €4 22e Radt uad? ll RoruSail wdl. 5 Razt uedl, 30 ARANA wiad)

NJe) 100 @ 28)
(©) 285 ©) 300

69.  Two cars starting at the same time from two s ’
g al . lations that a f
cross each other at a distance of 110 km from ope of the mﬁ?ﬁ&%?ﬂ?:?ﬂ‘: T 'n.eg

' @A) 1120 (B) 5:7

Asellonl Rag Eaun@jﬁcﬂtﬂa 002 4 Q D) (
o 15 el 0 Bl 4 20 0080 ol 3.8, el e 3;‘3‘?3;;%? X

R 20 (D) 8:5

SET: Q. 70 to Q. 75: Following table shows the numbe
. rof TV
2006-2010. Answer the questions given below it. Rl Mahis sepptodnced (!91‘]113

(-t 5hes 2006-2010 e2Peut 6wl Ad) 243 oSl s cid B, 3 Yoo 02 wude wslu '

FUN 2114),)

TV 6000 9000 13000 11000 8000 = H M5°

Mobiles 7000 9 9000 2 U

10000 12000 ~
~{36°° 2‘%" 0o ; it S
70.  In which year, the total production of ele‘ct:‘onic items is' maximum? L 3T ,
(A) 2006
} | ® 2 o

(C) 2008 (D) 2010 § Wi
s al, $AsAs axgllg ga Gene HeH B7- “49,0 -

pomw (B) 2007

) ' Y >
\NC) 2008 (D) 2010 %’f

71.  Find correct statement(s)

1) Average annual production for TV was 9400 during the period of 2006 to 2010, - \\ﬂo
2) Average annual production for Mobile was 9480 during the period of 2006 to 2010, ° —
Answer Codes: k W P
(A) Only 1 “ (B)Only2 %
(C) Both 1 and 2 (D) Neither 1 nor 2

CGRSC-2021 -A] 18 [Contd.
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A RdeA(Hl) 04l
20068 20101 2 et Adl] w321 iy Geugt 9400 8¢ |
_?) 2006 81 2010 - o eRU nlbuéag adaua alffs Geus+ 9480 48

g [Rsedl:
(AWl N\ (B) WA 2
\)9) 12260 Dy 1243 224 Asuz 4l
72.  What is the year in which the production of TVs is 50% of the production of Mobiles in the year
2010?
(A) 2007 (B) 2006
(C) 2009 | (D) 2008
-, sua(ui Adl] Gened Weudart a{ 2010 1 Gaug-u 50% “AAR 87
(A) 2007 . NS UB) 2006
(C) 2009 (D) 2008
73.  Whatis the ratio of the production of Mobiles in the year 2008 to the production of Mobilesin the
year 2010? _ o 5 -~
(A)4:3 b ) - (B)3:4 o T
SO s . (D)2:3 gl
ay 200841 mméa-u Beutent :a-l 2010 Hlousaru Gewert Q- g;eﬂua Bedl ©7
(A)4:3 B)3:4
“io1:3 ®)2:3
74. In______yearthe production of TV was approximatel}'?ai!% less than the production of Mobiles.
: (A) 2006 (B) 2007
L1 1(C):2008 D) 2010
- i, 2 Adl Geue Hlondartt e Sl &AM 337 21l ¢d.
I' (A) 2006 ~ ®)2007
(C) 2008 \(D)2010
75. In which of the given years did mobile produétion record the h.ighest annual per::cnlage growth?
(A)2009 r (B) 2007
©2008 . (D) 2010 |
2uda sut axdui Wonda Cwls.-tm A ay alils 251l 9l Al 92 (,LB Y H9#P
(A) 2009 \A) 2007 12000 ko0 W’p
(C) 2008 . \ \_\}m 2010 (VOR
_ : 8
CGRSC-2021 - A] 19 P.T.0.
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- < Answer the questiong
*  SETQ.7610 Q.7 ANSwe 1 NS on the hggq of the information given helow,

Each of the siy friends = :\lll\illli. ‘llhif U, Chary, Deepal, Farooq and Govinda = holds a different
designation from MMONR E_\" ' :l: m;“ ""M'- Foothaller, Consultant and Doctor - with no two'of
them holding the st """m,'";h‘ i Fach of they, lives in n different city from among Farfdabad,
Chennai, Dbl Gurrhon, I\o. “h: :;ml ‘h“.“l"‘-’f' and owns a different car from among Corolla,
Mercedes, Santroy Swift, Dicor and BMW, j3y), of the six cary Is of a different colonr out of Blue,
White, Black, Yellow, Green ind Redu Ttis algg kg, that:

N land owns 4 § "
L. Anbhg seays in Faridabac S 8 SWIML The netor owns the Mercedes and stays in Delhi.

1L For exactly one of them, the initial letter of pig -
" v L]

his designation, his city, his car and the
- same. 2
colour of the car is the s

1L For exactly onc of them,

the initial letter for g the four parameters is different from the initial
letter of his name.

IV. Except for the above two [riends, mentioned jy, statements
exactly one out of designation, city, car,

their names.

IT and 111, for every other friend
colour of the car starts with the same initial letters as
V. The person having the black Corolla stays iy, Gurgaon.

VL. Dicor is Yellow in color. Santro is owned by the Docttz;r and is not Green in colour.
VIL Deepak does not own Santro.
D2 200 R R N3l FAUst 20Y),
- » " 4
W,@m, s, 4135 A siffen - Yud), a@ﬁm@ geollaR, s~uc-2, dollol - &9
Beiuid £35 2142 @Zl%‘l 414 D - Auidl 516 A air el vl L. duid 353 Asiene, AaS, Red),

J3dNia, Slastdl 2t AL ASRUI 20 B 24 S, wRE, A2l Rage, Lok
Wil 210 512 42 8, 89 5wl e34ed) asie, £ds, uell, M 2 W vied1 2D, Awetonelld B 3:

L e sdleruen 28 8 w1 Bagz 4ad . wila wBiflor wkis © %A Redui 23 6.

IL Anidl s W2, At el RIS MR, Al dle), A 282, Al 512 A 1AL $91 W B, L
L Axidl 1R s W2, d AR Iul':‘.auafl 2+l WIS 28R AL AL RS 18Rl e B,
IV. 22232 11 4 11 i Gt Guglsd A Bl R, e35 s B 3d Slel, Ad, 4R, 511 I 20

44 AL AS A s Au-AL 1 Bl o Wi A 03 Wi B. ol
' G161~ " am
V. siefl siRlen dRiadl ealzd dysatiaui 28 8. Qi - —

; Lo A
VI 8512 ufl Qou 320 8. A3} oudl aoller-N @A O 1A e 3ol 4ol
VIL €lus wd A-2) ¢l

76.  Which of the following statement(s) is/are true about Charu?
1. He owns Corolla

~ 2. He lives in Chennai

3. He is a Consultant
Y -A_nswe'r_(;fdes:
“Lo@onlyl T (B) Only 2
' (C)Onlyland3 /", ' (D) All of the above
'CGRSC-2021-A] - 20 [Contd.
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e ¥ AP P ;‘\ ’:\
A2 (A3 NA4miell sen Rui (1) W \? = b > P\t\m\v
oA
1. a-l W skl 8 A
2. d ASuiW B . 7
3.d As AaesR ®
et [Qsel
Rraa (B) W=t 2
© w1213 (D) GuRlsd dint
77.  The designation of the person who stays in Kolkata is
(A) Doctor ~ ’ (B) MD
(C) Footballer (D) Cannot be determined
st 242 Ald-l §lel .......... 8.
(A) 522 (B) Andl
(O g2ollar D) 154l 59 asg -l
78.  Which of the following is definitely true about the person who lives in Kolkata?
1. He owns a.yellow call' ’
2. He is the Footballer
3. He owns the Corolla
Answer Codes:
(A) Only 1 (B) Only 2 and 3
(C)Only1and3 (D) Only 3
Slesiarni 2R Al R AA-unidl s Wssaud w3y 87
LAl wd 0l 512 8
2. d g2ullaR 8
3. d sl ulas 8
ogaion [Asel :
(A) WA 1 wB) WA 291 3 '
QAOUA 12413 . (D) A 3
79.  If Deepak owns Decor, then Govinda owns car.
(A) BMW ~ (B) Santro
" (C) Mercedes (D) Corolla o
oA flus 5R 4Ad B, rﬂ 1|1 — audl-l wifas 8?
(A) ol2n30ey (B) A3
L (i | ® M .
CGRSC-2021-4] - 21 | . P.T.O.
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‘' &
Y L}

'i.
2 i \l A ' |
1: Consider the Tollowin, Imnge & nnswer the questions glven below it

x SET Q. 80 10 Q. 81
‘ ('ﬂfl-ltl.w;[‘;:;:?“l“ 3 N et AL v a0

" Rural
Population
(anloa a4y

Graduates {Q/
(%+l15) :

Hardworking
( HuiAd)

Honest (SHI%12)

80.  What is the number of graduate hardworking rural people who are not honest?

)2 B)3
Q ©)s ' ' (D) 6
\/ WML 4 Gl Aal s wdg aellen sl ey 2od) 92
(A)2 B)3
(€)5 D)6
81.  What is the total number of hardworking people?
(A) 12 (B) 23
(C) 52 . UBT42
& Hd-g dlsl-l g4 v el B7
(A) 12 (B)23
(C)52 (D) 42
82.  What is the total area of the following image?
: 3 R 3
m : b
o ) 2
13 /A-‘i"‘
E [_‘ " -'Lf/% 1 &
™ mm
1
: =
El 2 N
-
3m
"(A) 10 squaré meters (B) 12 square meters
(C) 13 square meters (D) 14 square meters
CGRSC-2021 -A] ' 22 "+ [Contd
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AN g 46 Axon 324 B? q,
VXA,
3m w\7 T
3 5 l/
x B «P‘-"%A L'_;, W T
£ AT 2
1m % £
| Q E : N
S -
3m
. (A) 10 QR 2R (B) 12 ARy Hl2:
: L A AO13RR (D) 14 AR 2R
:’ o8 l“llllntheGap:b
| ' A2
; _ \\Tfé
. d UV | P
| < % (] '
A B c
(A)B ®)C
(©A (D) D
‘ vl o ol
g o,
RS
| ™S
XJ [J LA
™ Al
A B c L/
(A)B (B)C
©A D :
CGRSC-2021 - A} P.T.0.
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5 . ANS -cr'tlw uestions
*  SETQ. 840 Q. §7: ANSW 9 NS on the basis of the information given below.

P, « m v and Y are the only sevey,
Q R, T, X0 » manager and o members of family, comprising two lecturers, two
+ doctors, one [awyer OMC - ¢ engineer, 1¢ Is nlso known that:

L. There are exnctly two married couples iy, g, family,
IL S, who js gn engineer, is married to » doctor,

TIL No femate member of the family is either oy oo a manager.
IV, R, Who is q lecturer, is married to P, o doctor, :

V. No male member of the family is a lecturey,

VL Y is married to S. The lawyer in the family i , male,
VII. Neither Q nor X is a lecturer.

A 200 aRl-AL A2 HAA FAUG B0y,

P,Q,R,S, T, X #i1 Y 215 WRARALHIA ld 402l ) oy
As APz wda e 8, A g §3; A earaial, A 1522, A4 afld, As Aoz 21

IL g3omi srior A wRelld 3ol 8. |
IIL S, % A5 $orA 8, A doflor 0l @d sy{ g
IV. YRRl 516 ua ulR e ueu $%R 3 Aoz 48
V. R, 2 caroidt 8, A8l P (oflor) 08 @oq sy .
VI WRar-l 51 yau 04 cavaidl o),

VLY 31§ 8 @ sl 8. wRazui adld yau g,

VIL Q % X 3 cyryielt .
84.  How many female members are there in the family?

(A)4 ' (B)3

((:‘) 2 - P None of these

sdui s2a1 Rar ued) 97

A)e ' (B)3

(C)2 ‘ | ’ (D) 2uidl 86 1R
85.  Which of the following combinations of the member and his/her profession can be correct?

(A) Q - Doctor o (B) T — Manager

(C) X - Lecturer ! \ (D) Y- Doctor

A0 A7 -t A Qi) 54 Adlog Wy ¥l6 u3?

(A) Q- adllu B) T - A2

Q) X - ey D) Y-dollr

86. Who among the following are lecturers? -

(A)RandT (B) Rand Q \

(C)TandY (D) Tand S )
CGRSC-2021 - A] : 2.4
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What-is the profession of Q?
(A) Lawyer

(C) Lecturer
Q -l euauy g 87
(A) afla

(C) cuvqidy

A person has 2 parents, 4 grandparents, 8

www.marugujarat.in

M)RUAQ
D)TU1S

(B) Manager
(D) Either (A) or (B)

(B) A2
(D) (A) 2144l (B)

his ancestors during the ten generations preceding his own.

(A) 2080
(C) 2046

(B) 2028
(D) 2280

great grandparents, and so on. Find the total number of

s B 2 Widr-Rdy, 4 661618, 8 ueie-6dl A lu B, 241 Bt »eu6-u 10 Wl saydadl

Hoy Ay,
(A) 2080
(C) 2046

SET: Q. 89 to Q. 92: Answer the questions based on the information given below:

(B) 2028
(D) 2280

In a code language if "CRAZY" is labelled as a code number "1227103534" and "MANIAC" is

coded as "221023181012".

A2 2uda 1Rl 2083 usl- st 204l

2 ch AZY .
215 A\ GUNL Ui "CRAZY" Av% A --_gggfilssw adl3 AR s2ammi 20 21 "MANIAC" 20€ A
"221023181012" a3 R&d sl 204 8.

fRARIRC

"IRRATIONAL" will be coded as

(A) 18272710291924231021 (B) 18272710291824232221
(C) 18272712291824231021 (D) 18272710291824231021
"IRRATIONAL" 1........... adl3 uiZRs s2ami vuad.

(A) 18272710291924231021

_(C) 18272712291824231021
"CYNICAL" will be coded as
(A) 12342318101221

7 (©)12342318121021
y R

1% 27271023 13U 25108

(B) 18272710291824232221
(D) 18272710291824231021

(B) 12341823121021
(D) 12341823122110

Y

CGRSC-2021 - A]
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"CYNICAL A soeersees 4813 ABRAS 53003 g,

W 1234231101221 (B) 12341823121021
(©) 12342318121021 (D) 1234182312210
9. “25102324251724111812" means A
9 :2; :::::S:;:‘;’BBE:' g: "PANOPHOBIC"
"2“ N o P PO e None of these
= 28 @235415175491312 - o—
(A) "PAGOPHOBIC" \_B) "PANOPHOBIC"
(© "PAPAPHOBIC" D) i) A6 4R
92, "'13242724221023181012" means e AN
3 (A) "DINOMANIAC" (B) "DORAMANIAC"
\// '(:D:) ;%0;{21\:4:?&“;:‘; : (D) None of these
13242724221023181012" ll Hede........... B,
(A) "DINOMANIAC" ‘ (B) "DORAMANIAC"
_(©) "DOROMANIAC" (D) 2unidl 51§ ),
93. In a certain code RAIN is written as 8$%6 and MORE is written as 7#8@. Ho\;v is REMAIN
written in that code?
(A) 8@7$%6 (B) 7@#3%6
(C) #@&$%6 (D) #@7$%
¥ 2521 A4 RAIN A8 %6 413 ctviati 243 A MOREA 7#8@ {13 qvanii 2ud 8. REMAIN
8. A 2 lsui 3l 1A quuy? :
T msersms (B) 7@#$%6
(C) #@&$ %6 AR S D) #@7$% Qe s
* ' SET:Q.94'to Q. 96: Read the following statements and answer the questions given below it:

' i. Four dog breeds namely- Airedale; a Boxer, a Collie, and a Doberman win the top four prizes in
the Kennel Show, not necessarily in that order. Their owners are E, F, G and H, not necessarily
in that order. Their dogs' names are J, K, L and M, not necessarily in that order.

ii. G's dog wins neither the first nor the second prize. R Q
iii. The Collie wins the first prize. .‘ =~ ?r
iv. M wins the second prize. N 5
v. The Airedale's name is J. %. )
‘vi. F's dog, the Doberman, wins the fourth prize. ‘A . ©
vii. H's dog's name is K.
CGRSC-2021- A] 26 ICowE.
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94.  Which of the following su-atement(s] is/are correct? .
(1) Dog M belongs to E (2) Dog L belongs to F
answer codes:
: ﬂlﬁ (A) Only 1 _ (B) Only 2
r)y ’)< (C) Both 1 and 2 (D) None of the above
DAl 2 Run adjaize 87
MAUAMANRASED @A LA wRdsFe
ogaut Rsedl |
A)wa 1 . (B) WA 2
©) 122064 v | . (D) GuRlsdnidl A dl
95.  Which of the following statement"fﬁ) is/are correct?
1) M is a dog of Boxer breed. .
2) J wins, the third prize.
answer codes: = | _

@womyr ®ony2 @
(C) Both 1 and 2 i (D) None of the above ! \g
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96.  Name of the oWner whose dog won the fipg, prize s
(M E B r
©aG . D) i
M3 ooy gtz At W HAS D W g
(A)E ; (B) F
©)G T (D)H N
. .i't.fli“fiI:E‘:l‘é:‘."ii‘i&‘?&'éﬁi‘ ;‘::l;ﬁ:.’:v?:;:’ €r51,2,3,4, 5 and 6 respectively. This dice is rolled
Find the number opposite to 1.
A2 B)6
(©)s (D) 4
© adnqun As WA AgsA Y 42 1,2, 3, 4, 543 6 01 AR s2a04 203 8. 20 Wk A 4w avid
§sani 20d 8. Al A2t Rl a4 20531 i) 8, 241 3Rl w3 wan Gus v 17 A R2g
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%  SET: Q. 98 to Q. 100:Refer to the statements given below and- answer the questions that follow.
1) Ais a positive number.
2)A cagi be expressed as 50% of B or one-third of C or 140% of D.
3)R=60% of C -
4)X =2D
- Rl dfeofui 6l 21 A 3oror 021 208 18t e 2.
1) A Aay i,
2) A L B 1 50% 8t C -t Ao 61191 gy D At 140% a3 s 530 a5 8.
3)R=C-l60% '
4)X =2D
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98. The smallest number is

.
—

(A)D (B)A
(OR D) C
Alefl Al v 58 B2

(A)D ®) A
©OR .

99.  The second largest number is

A)X (B)B
©A - “(D)D
oflon 43 A WAL A e ®

Ax - (BB
©OA D)D

100. If these letters are arranged in an ascending order then which of the following letters will be

located between '""R'" and "A"'?

@)X ®)C
B @)D
%A 21 248137 A3l s34 dNsaarni 21 dl NA-unidl sul 1482 & "R and "A" 0l @22 ¢Q?
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